
 

pwT – 1 
iqrMgw (lyKk-sRI iSv kumwr btwlvI) 

1. pRSn/ au~qr 
pRSn a. iqrMgy JMfy dy iqMn rMgW dy nW d`so[ 
au~qr : kysrI, ict̀w Aqy hrw[ 
pRSn A. iqrMgy iv`c Sbd ‘swvw’ qoN kI Bwv hY? 
au~qr : iqrMgy iv`c Sbd ‘swvw’ qoN Bwv ^uShwlI hY[ 
pRSn e. kysrI rMg iks g`l nUM drswauNdw hY? 
au~qr : kysrI rMg kurbwnI dw pRqIk hY[ 
pRSn s. ASok c`kr qoN kI Bwv hY? 
au~qr : ASok c`kr qoN Bwv ivkws qoN hY[ 

2. hyT ilKIAW sqrW nUM pUrw kro- 
swvw rMg qyrw d`sy 
KyqIAW dy rMg nUM[ 
pihn bwxw kysrI  
ShId jwx jMg nUM[ 
ic`tw rMg qyrw swfw 
SWqI ivDwn ey[ 

3. AOKy SbdW dy ArQ : 
iqrMgw  : iqrMgy qoN Bwv Bwrq dw rwStrI JMfw 
AzwdI  : Ku`lH, suqMqrqw 
AMbr  : AkwS, Asmwn, ggn, ArS 
inrwlI  : v`KrI, ivl`Kx 
eykqw  : eykw, myL, iek`T 
ivkws  : vwDw, qr`kI, au~nqI 
swvw  : hrw, sbz 
bwxw  : ilbws, pihrwvw 
 

4. hyT ilKy SbdW nUM smwnwrQI SbdW nwL imlwE- 
AzwdI  = suqMqrqw 
AMbr  = Asmwn 
bwxw  = pihcwx 
ivkws  = qr`kI 
inrwlI  = v`KrI 


